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SECTION-A (30 MARKS)

I. A. Fill in the blanks ’ (5x1M = 5 Marks)

1. The people living in Khejadli village are called

2. Insects collect from flowers.

3. An is a mass of land surrounded by water on all
sides.

4. A is a structure that is built over a road, railway,

river etc . to cross from one side to another.

5. 1s a project that tells extraordinary tales of

ordinary girls.
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B. Match the following:

1. Trolley

2. Goa

3. Maharashtra

4. Anita

5. Chetandas

C. Choose the correct answer:

1. The oldest

(5x1M=5Marks )

Dera Gazikhan ()

Marathi ( )
Ladakh ( )
Konkani C )

Muzaffarpur district ()

(5x1M=>5marks)

elephant is the leader of the herd.

(female / male)

belongs to Bochaha village in Bihar.

(Anita/ Amrita).

3.

protects us and our things in a

railway station. (Porter / Railway police)

4. Arrival of a new baby sister brought a change in

5. Cow dung is mixed with

family. (Nimmi’s / Tsering’s)

to coat the floor.

(cement / mud)
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D. Write short answers. (5 x 2M = 10 Marks)
1. What is a Vallam?

2. How are plants useful to animals and birds?

3. What is the Law on Child Marriage?

4. What are floods?

5. Who is a Coach?
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E. Some portions of the time-table for the route of the train on which Omana
travelled are given below. Look at it carefully and answer the following

questions: (5 x IM= 5 Marks)
SI.No | Station name | Arrival | Departure | Distance | Day
time time (Kilometer)
1 | Gandhidham L 05.15 0 1
2 | Ahmedabad 11.30 11.50 301 1
3 | Vadodara 14.03 14.10 401 1
4 | Surat 16.15 16.20 530 1
5 | Valsad 17.23 17.25 598 1
6 | Bhiwandi Road | 21.10 21.12 772 1
7 | Madgaon 07.35 07.45 1509 2
8 | Udupi 12.06 12.18 1858 2
9 | Kozhikode 17.45 17.50 2165 2
10 | Trichur 21.05 21.10 2280 2
11 | Ernakulam 22.35 22.40 2356 2
Town
12 | Kottayam 23.50 23.55 2418 2

1. From which station did the train start?

2. How many minutes did the train stop at Ahmedabad station?

3. On which day of the journey did the train reach Madgaon?
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4. At what time did the train reach Kottayam?

5. How many kilometers did Omana travel by train?

SECTION-B (25 MARKS)

I1. A. Identify the pictures and write the names (5x1M=5Marks)
Question | Pictures Names
No.
1. 1.
2. 2.
3. 3.
4.
4.
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B. Circle the odd one out

1. dog frog lizard
2. bee ant spider
3. car cycle bus

4. eyes ears nose

5. tiger panda jackass

C. Answer briefly

(5x1IM = 5Marks)

snake crocodile
mosquito butterfly
auto van
hair skin

dinosaur

(2x1M = 2 Marks)

mountain gorilla

1. Write two differences between animals which lay eggs and animals that give birth

to young ones.

Animals which lay eggs

Animals which give birth to young
ones

2. Why was it so crowded at the door of the coach in which Omana travelled?

(1 x 2M =2Marks)
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3. Give two examples: (2 x 1M= 2 Marks)
a) Two animals used by the people to earn their livelihood:

1. 2.

b) Two things that dissolve in water:

1. 2.

4. Give reasons: (2 x 2 m= 4 marks)

a) Oil floats on water surface but stone sinks in it.

b) We should be careful while walking on the snow.

D. Write a short note on the game “ Kabbadi.” (1 x5 M =5 Marks)
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SECTION-C (25 MARKYS)
II1. A. State whether True or False: (5 x IM = 5 Marks)

1. Pure water 1s colourless.

2. Khejadi tree is mainly found in desert areas.

3. Kannauj district is in Uttarpradesh.

4. Madhubani design is popular in Bihar.

5. In the hills of Uttarakhand, is a place called ‘Valley of flowers’.

B. Who am 1? (5X 1M=5 Marks)
1. I make your work easy to lift or lower various things.

I help the trolley to move across the iron rope.

2.1 am a weight lifter from Andhra Pradesh. [ have won 29 medals.

3. The basket is the only home I have. I hiss to scare you.

4.1 am an area of low land lying between hills or mountains.

5. Iam a sandy place and get very less rain fall.

People use camels or camel carts to cross me.
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C. Answer in two sentences. (3x2M=6 Marks)

1. What is a tunnel?

2. In what ways does the Railway time-table help the common people?
Mention any two uses.

3. Define Jungle.

4. Complete the table. (4 x %2 M =2 Marks)
Work Tools Name of the person
1. Fitting pipes Saw, pipes, taps
2. Wiring Tester, screw driver, wires
3. Digging soil Spade, pan
4. Building house Cement, bricks, sand, iron
rods

5. Draw, colour and name the flower that grows on water.

(1 x 2 M=2 Marks)
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E. Locate and shade the following states on the map (5x1M=5 Marks)
Gujarat, Rajasthan, Bihar, Uttarakhand, Kerala.

INDIA

OUTLINE MAP (POLITICAL)

»z=
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READING (20 MARKS)

A) Read the passage carefully and answer the following questions. (Smarks)
One day, Alice was lying under a tree listening to her sister reading a story. Suddenly,
she saw a white rabbit scamper by. He had pink eyes and was wearing a blue coat. He
took out a big watch from his waistcoat pocket and as he hurried away, he said, “Oh dear,
I will be too late!”She thought there was something very different about this rabbit. It
could talk, it wore a blue waistcoat and it carried a watch. The rabbit started running and
Alice followed the rabbit. The rabbit suddenly popped down a large rabbit hole.
1) Complete the sentence: 1)

Alice was lying under
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2) Fill in the blanks .

2

a) The rabbit had eyes and wore a coat.

b) The opposite of the word ‘same’ from the passage is
3) Who followed the rabbit ? 1)
4) Write the word from the passage that tells us the time 1)
B ) Read the passage carefully and answer the following questions. (Smarks)

Shetty, the magician was returning home ,when all of a sudden it began to rain. It rained

heavily. Shetty looked around for shelter and saw a pretty little fir tree. He ran towards it

as fast as he could . Soon the rain stopped. Shetty was happy that he did not get wet.

1) Answer in one or two words : (1x2=2)
a) What was Shetty ?
b) Name the tree under which Shetty took shelter .

2) Answer in one sentence: 1)
Why was Shetty happy ?

3) Write two words that end with ¢ ed’ from the paragraph: (1)

4) Write the synonym of the word ‘beautiful’ from the paragraph : a1
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C ) Read the following passage carefully and answer the following questions. ( 10 marks)
Ramu and his wife Laxmi lived in a village. Ramu was a wise and kind person. Laxmi was a
greedy woman. They worked hard and earned little money.When there was no work they
had no food. Ramu and Laxmi moved to a nearby town in search of work. One kind old man
helped Ramu to drive an auto. Now Ramu was able to earn enough money for their living. Ramu
was happy with whatever he earned. But Laxmi always wanted more and more money and
comfort. She was always dissatisfied in life.

i. Choose the correct words and fill in the blanks: “)

1) Ramu and Laxmi lived in a

a) Town b) village ¢) auto
2) Laxmi was a woman .
a) Greedy b) kind ¢) happy

3) The antonym of the word ‘satisfied’ is
a) Happy b) hard c) dissatistied

4) The old man was very .
a) Kind b) unhappy c) wise

ii. Why did Ramu and Laxmi move to a nearby town ? 1
iii. Pick out any two describing words (adjectives) from the passage : 1

iv. Write words that mean the same (synonym) for the following from the passage: (2)

1. Intelligent :

2. A state of well being and having no pain or worries:
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v) Write the person whom you liked in this passage giving one reason why you liked
that person. (2)

TEXTUAL QUESTIONS: (10MARKS)

A) Answer the following questions in one or two words : 1)

1. Name the teacher who agreed to help Helen Keller.

2. Write two tools used in archery :

B) Say True or False : 1)

1. Our body clock makes us get up at the same time every day.

2. Is the boy in the poem,”Why” sad ?

C) Answer the following questions in one or two sentences. 2x4=8)

1. Why was the fir tree sad? (Write two reasons)

2. Who wrote the poem, ‘Don’t be Afraid of the Dark .”?
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3. What did Nasruddin boast about ?

4. Write about the places where the poet wants us to run.

CREATIVE WRITING : (10 MARKS)

A) Write five sentences about your favourite cricket player.
Clue words are given below:

S))

eight hours practises eats healthy food

runs every day batsman Indian outdoor
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B) Write five sentences about the picture given . You may use the clue words given

below :

S))

bench ice-cream

eating

§
:
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GRAMMAR : (15 MARKS)

DO AS DIRECTED :

1. Complete the following sentences, choosing the right words from the brackets. (1)

a) There was only boy who the prize . (one ,won )
b) lives in jungle. ( deer, dear)
2. Write the full forms of : ?2)
a) mustn’t b) don’t
3. Fill in the blanks using ‘was’ or ‘were’ : ?2)
a) The boys playing in the park.
b) Her dress very pretty.
4. Fill in the blanks with the correct words as shown in the example : ?2)
Example : small smaller smallest
lovelier
good
5. Rearrange the words to make a question . 1)
hurry is in a why he
?
6. Punctuate the given sentence : a1

he said Aim at that target and shoot an arrow
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7. Write the compound words : )

a) rain + bow

b) sun + shine

8. Write the plural of : ?2)
leaf child
9. Connect the pair of sentences given below using 'and' or 'but’. 1)

Riya plays chess .

She also plays volleyball.

10. Rewrite the given sentence with the correct opposite for the underlined word .

)
Reena nmever gets angry.
VOCABULARY (10 MARKS)
A) Give one word for the given words : “4)

1. To be very inquisitive

2. The goal intended to be hit :

3. Script used by children who cannot see

4. To rest from work

8/ 12 Pages



B) Write the antonymns for the words given below by adding — ‘un’ or ‘im’ (2)
1. pure 2. safe
2. fair 4. possible
C) Write the name of the game where these rules are used : ?2)
1. Goal : 2. LBW:
D) Make meaningful sentences with - ?2)
1. important
2. golden
SPELLINGS (10 MARKS)
A) Some letters are missing in each word. Write ‘ea’ or ‘ee’ in each word . (2)
1) ¢ s e 3) br zZ ¢
2) m d ow 4 f r
B) Encircle the correct spelling . ?2)
1. Foontan fountain foutain
2. giggle giggllee giggle
C) Make two words with ‘K’ sound. €))
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D) Put the letters in the right order to make meaningful words : (3)

1. mrala

2. f ardi a

3. nede el

E) Rearrange the words to make correct sentences. (2)

1. anyone / her hair / Helen / would / comb / not / let

2. gold leaves / came / aman/ stole/and/ along/ the

HANDWRITING (5§ MARKS)

Rewrite the given paragraph neatly. Q)
Swami Vivekananda says , “ Get up and set your shoulder to the wheel — what is this life

for? As you have come into this world , leave some mark behind. Otherwise where is the

Difference between you and the trees and stones? ”Problems can either make you or break

you . Face life bravely.”
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Total No. of printed pages: 10

Atomic Energy Education Society
Half-Yearly Examination — 2018-19
Class: IV Date of Exam: 26-09-2018 Duration : 3 Hrs

Subject : Mathematics Marks : 80

Student’s Name:

Roll No. Class/Sec:
Invigilator’s Sign: Examiner’s sign :
Checker’s Sign : Marks Obtained :

General Instructions:

This paper consists of the following Sections:
Section-A (20 Marks)

Section-B (20 Marks)

Section-C (20 Marks)

Section-D (20 Marks)

All are compulsory.

Section A (20 Marks)
I. Choose the correct option. (6 x1=106)
1. Which of this is a face of a brick? ( )
a.U b. C. (I
2. The Qutub Minar is 72 high. ( )
a. Millimetre b. Kilometre c. metre
3. There are three old cave paintings. Choose the oldest one. ( )

a. 5400 years old  b.1000 years old  ¢.150 years old
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4. The time shown by the clock is ( )
a. 7:02 b.2:35
5. In a 12-hour clock, each time comes ( )
a. once b. Twice c. thrice
6. What will the @box look like in the open form. ( )
a. ) b 5 C. )
41113 50113 41216
5 6 5
6 4 3
II. Answer the following questions as directed. (5%2=10)
A. 1) Draw the shape of a brick showing three of its faces.
i1) A brick has faces in all.
B. Draw the following in the box given,
1) Front view of railway track. 1) Side view of a shoe.
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C. Fill in the gaps.

a) One hundred thousand in figures (numeral):

b) In 1500 metres race people run Km

D. Write the time.

a) By 24-hour clock , 2 O’clock in the afternoon:

b) By 12-hour clock, 17:30 hours:

E. Name two places where 24 hour clock is used

a) b)

I11. Solve the following. (2x2=4)

a. Arnav had one litre water bottle. He drank 150 ml of water. His friend
Khushi drank 300ml of water. How much water was left in the bottle?

b. Fill in the gaps

. 100ml + ml + ml = 1 Litre

1. 450ml + ml + ml = 1 Litre
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Section — B (20 Marks)

I. Choose the correct option and fill the gaps.

1. The shape of a brick is

2. Two times

3. The distance 7 m 52 cm is nearly equal to

ml is equal to 1 Litre. (500, 250, 1000).

(6x1=6)

(cube, cuboid, cylinder).

(7 metres, 7 and half metres, 8 metres).

4. 1 Litre has

5. The shape
( a funnel , an egg ).

6. Observe the medicine bottle,
Would it be safe to take the medicine in
the month of November 2018? (Yes or No)

Ans.

II. Do as directed

ml in it. (1000, 100, 500).

@ shown here is the top view of

=

Mfg. dt: 09/16
Exp. dt: 09/18

(5%2=10)

1. Draw the hands to show the given time & write the time in the box.

20 minutes after 6 O’clock:

2. In the given wall pattern below,

1) Draw a Jaali Pattern and shade. 1ii) Draw a Jharoka pattern and shade.

1 1

1

1

1

I |

’ ) )i 3 A ) §
T T T T o [ o s —
L1 1 1 I I | A S () W, LI |
r. 1. 111 T T T T 1
1 1 1 1 1 1
T I I I I I 1 1 1 1 1 1
| 1 1 | 1 1
1 1 ¢ 1 1 1
1 T 1 T 1 1 1 1 1 1 1 1
1 T T 1 T 1 1 1 1 1 1 1
T 1 1 1 I 1 )| 1 ) | 1 1 1
I 1 I 1 1 1 1 1 1 1 1 1
I | - Ty | I I ) (T Y T - 0 |
I I I I T I 1 1 L ]
1 1 1 1 1 1 1 1 1 1 1 )|
1 1 1 1 1 1 1 1 1 1 1 1
1 1 I ) | 1 ) | )| 1 1 1 1 )|
T g L} T i s L0 o T T T T T
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3. Mark the dates in correct order in the given TimeLine.

5 September 2008 She ate banana
5 March 2008 Muniya was born
2 February 2009 She started walking
15 September 2008 She got her first tooth
10 November 2008 She sat up

05-03-08

v v v v v
Was born

4. Suma and Prema are sisters. Suma goes to Virpur which is 220 km from
their house and Prema goes to Jayanagar which is 190 km far from their

house in the opposite direction. How far are the sisters from each other?

Virpur Jayanagar
Ans :
5. Fill in the box with correct number. 2
6
I1I. Solve the following: (2x2=4)
1) How many rounds must Devi Prasad run around
the field to complete 3km?
500m
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1) One day he got tired after running 9 rounds.

So, the distance ran by him was Km and m.

Section- C (20 Marks)

I. Fill in the gaps. (4x1=4)

1) 10000 + 5000 + 200 + 70+3 = (write the numeral)

2) 50 times 100 is equal to

3) A bus takes 15 minutes to refill its diesel tank. Two buses will take about
minutes.

4) There are 5 sections in class IV with following number of students:
41, 38, 32, 34, 30

The total number of students is
I1. Solve the following: (6x2=12)

1. Find the sum of 4m97cm and 15m5cm?

2. 1 gave 5 toffees each to five of my friends and 4 toffees were left with
me. How many toffees did I have?
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3. The ticket-price of Double-decker boat is Rs. 50 for each. One group of
children went for the Double-decker trip. They paid Rs.450 in total. How
many children went for the trip?

4. Multiply using box method 56x 34

Ans:

5. Find the total value?

2 notes of

4 notes of

Total Value:

6. Make four 3-digit numbers using numbers 5, 2 and 9.
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IIL. Solve (2x2=4)

During festivals the cost of some products increases. Here is a list of food

items during ordinary days and festival days.

Product Price on an ordinary day Price on a festival
Sugar Rs.45 per kg Rs.52 per kg

Dal Rs.90 per kg Rs.100 per kg
Jaggery Rs.150 per kg Rs.180 per kg

a) Jagan bought 25kg sugar on an ordinary day and sold all of it on a festival

day. How much did he earn?

b) Kavya bought half a kg jaggery on a festival day. If she had bought the same

on an ordinary day, how much less money would she have paid?
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Section D (20 Marks)

I. Choose the correct options: (4x1=4)
1.  times 100mL makes one Litre. (100 / 10)
2. 180 days after 20/01/17 will be (June 2017 / July 2017)
3. Which pair adds to make more than 5007 (401and 99 / 361
and 152)
4. weeks make 21 days. (4/3).
I1. Find the answer for the following: (6x2=12)

1. A brick is 20 cm long. Muniya wants to make a wall of 1 metre long.
How many bricks will she need to put in a line?

2. Naresh has to take 3 injections a day for 4 days. Each injection takes Sml
medicine. How much medicine will he take in all four days?

3. The cost of 1000 bricks 1s Rs 1400. Find the cost of 500 bricks.

4. How long will it take for a minute hand to move from?

to
minutes

to
minutes
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5. Kiran bought 1 kg plastic for Rs.14 and sold it for Rs.20.How much does
she earn on selling 23 kg plastic ?

6. Sohanlal runs a tea shop. For making a glass of tea he uses 25 ml of milk.
One day he made 50 glasses of tea.

(1) He used ml of milk.
(1) It is (more /less) than 1 litre of milk by ml.
III.Find the solution. (2x2=4)

1) How will you measure exactly 3 Litres of milk using 5L and 4L jars only ?

i1) 125 children attended the party. Each child got 2 chocolates and 1 banana.
17 children did not take bananas. How many chocolates and bananas were
distributed?
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